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(M. m) (A m) (M. m) (%) (%) (%)
FEH [IFE—1 IXEH/\VigET 1 TES & 104,000/ 103,000( 102,000( -1.0 | -1.0 | -1.9
(FB—30)
I8 — 2 KETREEEHN2TH4H 93, 600 92, 300 91,4001 -1.4 | -1.0 | -2.4
(F8B—23)
IFEE—24 IFEEH=MEFARITES%ES6 31,300 30, 900 30,500 -1.3 | -1.3 | -2.6
(FEBE—19) [=HFARE3—8—6
IFE—3 4 Iz B ANSAEEET1 TH 1 9%3 107,000/ 107,000( 107,000 0.0 0.0 0.0
(B —22)
IFE—37 IEEHAHE1TE16%9 44, 700 44 300 43,800 -0.9 | -1.1 -2.0
(FE—17) TAHE1—-—16—6]
IR —6 1 I EFANMAET 3 TH 7% 14 164,000 163,000 163,000( -0.6 0.0 -0.6
(82— 3 3)
XiE—5 KEMELFHLS TE7E& 24 73, 500 72,000 71,2001 -2.0 | -1.1 =-3.1
(KE—14)
KiE—11 REMEAMFEEEI 20%F2 47,300 46, 700 46,200 -1.3 | -1.1 -2.3
(Ki#E—10)
ZABR—-6 ZHRRATERI1TE16%4 80, 600 81, 500 82,300 1.1 1.0 2.1
(ZRBR—11)
Z2AR—15 |ZARMAMAT4TESEA451 34,700 34, 400 34,2000 -0.9 | 0.6 | -1.4
(BAaR—2)
PE—7 FET/NEETE2TEH6 9F 43,900 43, 200 42,900 -1.6 | 0.7 | -2.3
(FE—2)
BHEER-5 EHEHHRRLT3TE36%K6 68, 100 67,900 67,7000 -0.3 | -0.3 | -0.6
(£#%R—10)
mHiE—8 BRTHREF=/M334%6 54, 200 53, 900 53,900( -0.6 0.0 0.6
(FRiE—2)
I @ — 2 PEMEFEETEHOTE 17 1% 53, 800 53, 300 53,300 -0.9 0.0 -0.9
(IR — 2)
EH—1 THBEHEEK1 TES 4% 39, 500 38, 900 38,400 -1.5 | -1.3| -2.8
(EH—2)
ZN\—1 RIN\EBR/\ETESTHFTH476%F4 41,000 40, 600 40,200 -1.0 | -1.0| -2.0
(RIN—2)
H—-3 AR AETHARE 1 TH2 8 0&F4 49,900 49, 200 48,700 -1.4 | -1.0| -2.4
171EEA—1)
A |IKE5—1 KRBT/ #EE1TH4H 194,0001 187,000( 183,000 -3.6 | -2.1 5.7
(BB 5—10) 2 ARE]
IKE5—4 IFEHERET1TE13% 71,000 76, 000 75,200 -1.3 | -1.1 -2.3
(B 5—4) feotvEL]
KB 5—5 IFEHEHEIS TE 1 7 &4 618,000 618,000 618,000 0.0 0.0 0.0
(BFEB5—19) [RIEEE)L]
KE5—17 |EEMHEITE 1FE245 113,0001 112,000( 111,000 -0.9 | -0.9 [ -1.8
(E825—20) [RENFEER]
IFE5—3 1 IKEFEEER2 TEOE 2 253,000{ 234,000] 225,000 -7.5 | -3.8 |-11.1
(8 5—2 3) [LeRBETSvHA]
XiE5—9 KEFESERT3TH 1 5 &4 126,0001 124,000( 123,000] -1.6 | -0.8 [ -2.4
(KiE5—5)
El5—1 BlUmE=2E5 1% 345,000| 320,000{ 303,000( -7.2 | -5.3 |-12.2
(85— 4) [z E]
FE5—4 FIETEFMEF2TH 1 854 51, 800 51, 600 51,500 -0.4 | 0.2 | -0.6
(FB&5—1) [E5MEREENIE]
H£HEER5 -1 EBERTMMMETEI2TE 2% 2 80, 500 80, 000 80,000( -0.6 0.0 -0.6
(B#HE5—1) [BaRAEGEHREEMN]
IFEKREFS5 — 1 |EEBABFORFEFFTFEFEHES 2F 14 35, 600 34, 200 34,000 -3.9 | 0.6 | -4.5
10| (X%5—1) [7—H < UIEBREE]
() RIGtEREOEEMES,




